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General Instructions to Candidates :

» There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

* Use ‘cool off time’ to get familiar with questions and to plan your answers.
* Read questions carefully before answering.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.

* Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the

Examination Hall.
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Answer any 14 questions from 1 to 16. Each carries 1 score. (14x1=14)

Choose the most suitable answer from the brackets.

1. Unemployment prevailing in Indian agriculture sector.
a) Open Unemployment b) Disguised Unemployment

c) Educated Unemployment d) Voluntary Unemployment

2. Which of the following is not included in tertiary sector ?

a) Education b) Agriculture c) Banking d) Insurance
3. An example of measure of central tendency
a) Mean b) Correlation c) Range d) Quartiles

4. Alternative name of ‘cost of living index number’.
a) Wholesale price index b) Consumer price index

c) Sensex d) Industrial production index

5. A random sampling method

a) Product Method b) Income Method
c) Lottery Method d) Expenditure Method
Fill in the blanks.

6. The try out survey conducted before the actual survey is

7. is the Central Bank of India.
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8. The midvalue of the class 100-150 1s

9. The lowest value of correlation co-efficient is

State whether True or False.

10. NABARD is the apex body which regulates rural agricultural credit system in India.

11. Pakistan introduced economic reforms in 1991.

12. Personal interview method of data collection is more expensive.

Match column (A) with column (B) :

A B
13. Laspeyre : Jail cost of living
14. Spearman : Small scale industries
15. William Karve : Index Number
16. Dadabhai Naoroji : Rank Correlation
Answer any 5 questions from 17 to 22. Each carries 2 scores. (5%2=10)

17. Write two causes of agricultural stagnation in India during the colonial period.

18. Distinguish between discrete and continuous variables.
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19. List out two merits of free trade.

20. What is a project ? Mention major steps towards making it.

21. Write two uses of statistics in Economics.

22. Mention four functions of environment.

Answer any 3 questions from 23 to 26. Each carries 3 scores.

Score

(3x3=9)

23. Complete the chart showing major events in the economic development of China.

Major Events in the Economic Development of China

Single party rule

24. Differentiate ‘exclusive’ and ‘inclusive’ method of class with suitable example.

25. Write any three uses of index numbers.

26. Draw simple bar diagram from the following data.

Name of School

A

B

Number of Students

20

40

50

25

Answer any 4 questions from 27 to 31. Each carries 4 scores.

27. Explain the major sources of human capital formation.
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28. Construct scatter diagram of the following :
a) Positive Correlation b) Perfect Positive Correlation

c) Negative Correlation d) Perfect Negative Correlation

29. Describe the major goals of economic planning in India.

30. Classify the following into (i) Regular salaried (ii) Self-employed and

(ii1) Hired workers.

a) Street vendor

b) Farmer

c) School teacher

d) Agricultural labour
e) KSRTC conductor
f) Shopkeeper

g) Government doctor

h) Businessman

31. List out the major parts of a Statistical Table.

Answer any 3 questions from 32 to 35. Each carries S scores. (3x5=15)

32. Prepare a short note on the liberalisation policy introduced in the industrial and financial

sectors of India in 1991.

33. What is questionnaire ? Mention any four features of a good questionnaire.
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34. Analyse the major steps taken by the government to improve agricultural marketing.

35. Construct pie diagram from the following data.

Item Expenditure
Food 50
Clothing 12
Cinema 6
Education 18
Rent 10
Miscellaneous 4

Answer any 2 questions from 36 to 38. Each carries 8 scores.

36. a) What is sustainable development ?

b) Analyse the major strategies of sustainable development.

37. a) What is Poverty line ?

b) What are the major causes of poverty ?

(2x8=16)

c) Elucidate any five poverty alleviation programmes introduced in India since

Independence.

38. Find Mean, Median and Mode from the following continuous series.

Class 0-10 10 -20 20-30 | 30-40

40 - 50

Frequency 4 6 12 18

10
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